ACCOUNTANCY
IGECIE T

( Principles and Practice of Financial Accounting )

( fordfra Srarien % Rrgren U s )

(320)
Time : 3 Hours | [ Maximum Marks : 100
aag ;3 T | [ qUTfek : 100
Note : (i) This Question Paper consists of two Sections, viz., ‘A’ and ‘B’.

(i) Al questions from Section ‘A’ are to be attempted.

(iii) Section ‘B’ has got more than one option. Candidates are required to
attempt questions from one option only.

feor: () 3@ IH-TT 0 9 @ug T—wve 3 ud @ug T |
(i) w@ug ‘A F adt T F TA BT B
(i) WU ‘T U UH U Mk fashen T | wieAioat 1 haet Uk Torehed & & Ul % W A B

SECTION-A
Ques-3A
1. Give one difference between Equity Shares and Preference Shares. 1

THAT 379 IR YATERR 379 § FE Ueh 3T a3 |

2. Differentiate between Fixed and Fluctuating Capital Accounts on the basis of
‘fixed balance’. 1

TRt 3 % SR W TRl §Sft @ SR aiadeRiier ISt @d § 3T Jansy |

3. What are Errors of Principle? 1

Hgiieh AYfaam fohe wed 87
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4. Write any two differences between Receipts & Payments A/c and Cash Book. 2
TIf9 TS = @I a1 Ushe & & s & hig & Al fafau)

5. Explain, in brief, with one example of each : 2
(a) Assets Ledger
(b) Revenue Ledger
T ! Ueh-TUeh 3STEL0T <okl H&iT H THSITST
(%) wFIR @ S

(@) mm @ sEt

6. Define ‘Intangible Assets’. Give two examples of these assets. 2

‘Frd |l ol g ShifSTg | g wafEl < ]t 3aTe S|

7. Explain, in brief, the term ‘National Resource Accounting’. 2
T G TRETeR 3158 i GEY H RG] STy |

8. Differentiate between Manual Accounting and Computerised Accounting on the
basis of—
(a) recording;
(b) financial statements. 2
AT ThETeh 3T HFE{Ta o@ien H 7 % 3T9R W 3Tasg Hife
(%) aAfvrerE
(@) foxfta fommor

9. Nikhil and Akhil are partners in a firm sharing profits and losses equally.

During the financial year 2009, Nikhil withdrew Rs 2,000 per month at the
beginning of each month.

Calculate the interest on drawings @ 6% p.a. to be charged from him for the
year. 2

fifae iR Tfaat us wH § A1EER § 3R av-gH 1 favsH TWE s1gua § e 2| e
a8 2009 # w&F WIE % IR § ffaa 7 2,000 %o fewt |

AT W 6% ATMSeh W TS <hl AT Hifory, St oY o foIu 38 o S 21
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10.

Pass the necessary Journal Entries to record the following at the time of
dissolution of a partnership firm of Lalit and Mudit sharing profits and losses in
the ratio 3 : 2, assuming that the assets and third-party liabilities have already
been transferred to the Realization A/c :

(i) Mudit, one of the partners, took over a machine at Rs 20,000

(ii) There was a balance of Rs 20,000 in the General Reserve on the date of
dissolution

(iii) An unrecorded investment of Rs 7,000 was sold

(iv) Lalit, who undertakes to carry out dissolution proceedings, is paid
Rs 2,000 for the same

ofera i gfea, St for ema-zf 1 3 @ 2 @ vy = ® &, A tF g i & gHe W
e Tl @ T gfafeet w sifyeies Hifse) a7 7m dfifse o afwmmafat wa g
T o TSR Sl Sl WA | Saand a1 S g @

(i) T drEf gidd 4 20,000 %o oA W TH WA o ot

(i) TETYA % FHT WE G=F @A § 20,000 o H AT o7

(iti) 7,000 Fo % AfeiRaa fafersr =1 = feam mn

(iv) @feTd = THIE FE 1 ITETE foran fSrges T 38 2,000 o &1 am foram T

. Prepare Accounting Equation from the following transactions :

(i) Yogesh started business with cash Rs 5,00,000 and goods worth
Rs 30,000

(i) Bought goods costing Rs 10,000 from Kailash
(i) Paid to Kailash Rs 9,000 in full settlement of his account

(iv) Paid interest—Rs 16,000
= T @ o aefieRr Fam Aif

(i) IR 5,00,000 Fo % TS R 30,000 Fo % Hod o HIG o €1 IR TR fora
(i) 10,000 ¥o % HeJ 1 WA Hellel o LT

(iii) TR i 3T 8™ FohdT HLd gL 9,000 Fo 1 YIAM fohart

(iv) 16,000 %o TS % TAH fohdl
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12. “Revenue and the expenses incurred to earn that revenue must belong to the
same accounting period.”

Identify the concept and explain any two points of its significance. 4

‘o % i % Tt S v ud = TRy Sd 9 U € o 9y @ gt gy antee)”
IR i TEAH HINT 3R 30k HE o foheal g1 forgati &l =amen i)

13. Calculate the amount of stationery that will be posted to Income &
Expenditure A/c of Indian Cultural Society for the year ending 31st March,

2009 : 4
1.4.2008 31.3.2009
Rs Rs
Stock of Stationery 500 800
Creditors for Stationery 15,000 19,200
Advance paid for Stationery 700 900

Payment made to creditors was Rs 25,000.

31 A/, 2009 T GHH 98 & eI Thoold MRS & A¥-=99 @i ¥ for@ 9 & fow
T i afer i o Fifew

1.4.2008 31.3.2009
%o %o
LI & Wik 500 800
T & AR 15,000 19,200
YA o fog AW yae 700 900
THER I 25,000 %o hi A fera|
14. Explain, in brief, any four functions of ‘Financial Accounting’. 4

“forlta TR o el TR ST ol WA H AT i |

15. What is meant by ‘oversubscription’? What alternatives are available to a
company for the allotment of shares when there is oversubscription of shares? 4

‘st -stiie o T 31 27 A9 o iU -3rfie it feufa § st o 9 3TEn sTreied
% HH-hA 9 foshey gra 87
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16. Enter the following transactions in a Journal :

2009
November 12

» 18

December 8

» 30

Received a final composition of 40 paise in a rupee from
the official receiver of Mr. Gupta who had become
insolvent. He owed us Rs 8,000

Paid Rs 2,900 to Suman, a creditor; discount allowed by
her Rs 100

Goods sold amounting to Rs 10,000 to Jayesh; 40% in
cash and the balance on credit

Paid commission amounting to Rs 5,000 to Gaurav for
improved performance

= et i s gt fiew

2009

GELESTS 12
”» 18

fegmr 8

» 30

17. From the following

oo T feanfern &1 MU 21 2 TAR 8,000 Fo ¥ U A| Ik TEHRI
frfieR @ =3 # 40 99 < fiwer & w9 & yw 5w

TSR A 1 2,900 Fo I TAM TR, 38 100 %o &t e &
A T 10,000 To T ATA s=T, FH 40% Tehe TS I IUR AT
ufteghd fa1e o foTe Ma %t 5,000 %o HHTH % &9 YITdH fohu

particulars of M/s Star Industries, prepare a Bank

Reconciliation Statement on 30th November, 2009 :

(i) Overdraft as per the Cash Book—Rs 29,000

(ii) Cheques deposited into bank but were dishonoured—Rs 12,000

(iii) Three cheques of Rs 4,000, Rs 5,000 and Rs 6,000 were paid into the
bank on 27th November. Of these, the cheque of Rs 5,000 was credited by
the bank in December, 2009

(iv) Life Insurance Premium of Rs 7,000 was paid by the bank on our standing

orders

Ho WR FreIN o 1 THeA! ¥ 30 FaR, 2009 &1 S quTe foewr dar hifse
(i) ke &l AR AfITHFT—29,000 Fo
(i) 12,000 %o % = 5k § AT foF T AR srmeRa & ™

(iii) 4,000 %o, 5,000 Fo T 6,000 Fo & I Feh 27 TR I & H AT fFI 73| T
g sk 7 5,000 To & 9 @R, 2009 T 5T foRd

(iv) TR gd STQIFER & 5 7,000 Fo g s Hiftem & fow gmam for
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18. Pass the necessary Journal Entries to rectify the following errors : 6

(i) Total of Sales Returns Book of Rs 15,000 was carried forward as
Rs 50,000

(ii) Rs 5,000 spent on whitewashing of building was charged to Building A/c

(iii) A credit purchase of furniture of Rs 2,618 from Akshay was recorded as
Rs 6,128

(iv) Purchase of Rs 355 from Abhay was posted to his Account as Rs 305
= erggfigat = wiem e Tstm=n wfafsat Hifse

(i) Toa Tt si€ % 15,000 Fo % AN Il 3T 50,000 Fo o ST AT

(ii) 9 I THS FE W 5,000 Fo o 2l Yo @id H forg fezm mn

(i) 3T W 2,618 To T HleR YR HA foham T, 8 6,128 To & w9 7 Aficifad
IERIRIEI

(iv) AT ¥ 355 %o o HT HI 305 Fo o ®Y H 3Gk @Id H e foham =

19. (a) AB Ltd. forfeited 100 shars of Rs 100 each issued at 10% premium for
nonpayment of allotment money of Rs 40 per share (including premium)
and first call of Rs 30 per share. The second and final call of Rs 20 not
been called. Out of these, 80 shares were reissued as Rs 80 paid up for Rs
70 per share.

Journalise the transactions.

AB fd0 7 100 %o ufd & 100 2131 Sisa 53 a1 10% Hiftem w et fomam o qon
ST 40 %o ufa o7 (SHftpm wfeiferd) smee @ 30 %o ufd a7 wW & gWI 20 %o
i fgdfia wa arf<aw g =it 7€ 1) 390 @ 80 3T M 70 Fo Ul W A 80 Fo Ued
T ;e = T

ST 3ht TSt et i |

(b) The directors of N Ltd. resolved that 2000 equity shares of Rs 10 each,
fully called-up, be forfeited for nonpayment of first call of Rs 4 per share.
90% of these shares were reissued fully paid for Rs 8 per share.

Journalise the transactions. 6

N foto & fgement 3 wam@ wift@ foren f6 10 %o wfa o 37 9of anfem 2000 =T
Sed R forn S fSR 4 %o ufar 37w worm A= iy wmw T g ®1 3 @ 90% i
1 8 Fo Ufd 319 & YUI Wad YA: T e faam |

el <h U= afafsat fifsa|
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20. A company issues 10000, 9% debentures of Rs 100 each at a discount of

21.

6% redeemable in four equal instalments starting from the end of the first year
of issue.

Calculate the amount of discount to be written off each year and prepare
Discount on Issue of Debentures Account.

Tk AT 4 100 %o Tfd & 10000, 9% UG 6% o3 W SR {5 8, oreh wem frima &
TUH 9 % 3= ¥ T SRt IR 99 fehval | 2T R

yfa o sraferfiaa it S areft 52 i afsn H e Hifse s woes i woag @ @@
e |

From the information given below, prepare Trading and Profit & Loss A/c for
the year ended 31st December, 2009 and a Balance Sheet as on that date :

Name of Accounts

Dr. Balances

Cr. Balances

Rs Rs

Purchases and Sales 1,00,000 3,50,000
Returns 12,000 10,000
Cartage and Wages 68,000 —
General Expenses 2,000 —
Insurance 7,200 —
Bad Debts 2,000 —
Debtors and Creditors 1,15,000 1,00,000
Printing and Stationery 6,000 —
Advertising 15,000 —
Bills Receivable and Bills Payable 12,000 2,000
Opening Stock 28,000 —
Cash in Hand 48,000 —
Machinery 2,80,000 —
Drawings 22,800 —
Loan from Bank — 30,000
Capital — 2,20,000
Rent — 6,000

7,18,000 7,18,000

3270/ ESS/412A
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Additional Information :

(i) Create a provision @ 6% on Debtors for Doubtful Debts

(ij) Closing Stock on 31st March, 2009 was valued at Rs 34,000

(i) Insurance Premium was paid for one year ending 30th June, 2010

(iv) Interest on Bank loan outstanding—Rs 3,000

OR

From the following Receipts & Payments A/c and additional information,
prepare Income & Expenditure A/c and Balance Sheet of Country Library as on

31st December, 2008 : 10
Receipts & Payments A/c
for the year ended 31st December, 2008
Receipts Amount Payments Amount
Rs Rs
To Balance b/d 39,000 | By General Expenses 0,400
» Subscriptions : »  Electricity 9,700
2007 2,400 » 12% Fixed Deposit with
2008 53,000 Bank (on 1.9.2008) 36,000
2009 1,000 56,400 | » Books 14,000
» Sale of Old Newspapers 2,600 | » Salary 7,200
» Entrance Fees 24,000 | » Rent 13,600
» Sale of Old Furniture »  Furniture 21,000
(Book value Rs 5,000) 7,400 | » Balance c/d 22,400
» Interest Received on
Fixed Deposit 900
1,30,300 1,30,300

Additional Information :

(i) Subscriptions outstanding as on 31st December, 2007 was Rs 4,000 and
subscriptions received in advance in 2007 for the current year was

Rs 2,000

(i) On 31st December, 2008 salary outstanding was Rs 1,000

(i) On 1st January, 2008 library owned furniture worth Rs 24,000 and books

worth Rs 10,000

(iv) Provide depreciation on furniture @ 12% p.a. including purchases made

during the year

3270/ ESS/412A
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Fefetia g=mt @ 31 feawer, 2009 i GHH ¥ o ol AR TF A-21H @Il S15Y qei

3t fafer =1 fearfa-femmor e Fifso
fararor 9 I ST 91T
%o Fo
FRR R TED) 1,00,000 3,50,000
ATt 12,000 10,000
TSl T JSgll 68,000 —
M = 2,000 —
s 7,200 —
STIT 0T 2,000 —
TTER Td THER 1,15,000 1,00,000
fufen e v 6,000 —
\CEILE] 15,000 —
forer g @R forat 3 12,000 2,000
IRfF Wi 28,000 —
TEALY UhS 48,000 —
e 2,80,000 —
AT 22,800 —
S W /0 — 30,000
gsht — 2,20,000
TR — 6,000
7,18,000 7,18,000
37faft qamq“

(i) <ER W 6% 6 R A Al FHo F T grEem FHifse
(i) 31 9, 2009 & AfH =iF 34,000 Fo o
(iii) < Sfifem w1 T 30 S, 2010 w1 GHE a9 & fow R mn

(iv) S T W AN 6 FEd ART 3,000 Fo
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YT

= @ ™ wife wg ae @A a9 SAfaieh ge il geEat @ 31 fewwr, 2008 @i ami
AT o ToT0 3T wa = @ran aon fefa-faeo samsu

9T T YA @t
Y guIfy 31 fagrsi, 2008 Fi
srfeEr I YA el
%o %o

I b/d 39,000 | @@= == 6,400
== foreteft = 9,700

2007 2,400 e ° "ty S| 12%
2008 53,000 (1.9.2008 =) 36,000
2009 1,000 56,400 | Ik 14,000
T FETER-TET T e 2,600 | o 7,200
TAN-Ieh 24,000 | TR 13,600
T FeR 1 fosa ETiEK 21,000
(g% ¥d 5,000 %o) 7,400 | A9 c/d 22,400

Aty ST R ST i T 900
1,30,300 1,30,300
AT Gy :

(i) 31 femwr, 2007 I 31&7 == ART 4,000 Fo G 2007 ¥ =] a4 & oI 310w umw

2,000 %o off

(i) 31 fe@rsR, 2008 @I 3167 9a4 1,000 %o T

(i) 1 SHRl, 2008 1 GEAHE & qE 24,000 Fo FH FwR T 10,000 Fo T

g&deh off

(iv) =9 T FT ford T BT h affferd s R W 12% i R W TG0 I

3270/ ESS/412A
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22. On 31st December, 2009 the Balance Sheet of Archit and Ayush, who are
partners in a firm sharing profits in the ratio of 3 : 2, was as follows :

Balance Sheet of Archit and Ayush

as on 31st December, 2009

Liabilities Amount Assets Amount
Rs Rs

Capital A/cs : Plant and Machinery 60,000

Archit 1,20,000 | Land and Building 1,40,000
Ayush 80,000 | Debtors 12,000

General Reserve 30,000 | Less : Provision 1,000 11,000

Creditors 30,000 | Stock 30,000

Cash 19,000

2,60,000 2,60,000

They agreed to admit Rohit into partnership on the same date for %th share of

profits on the following terms :

(i) Goodwill of the firm be valued at Rs 50,000 and is not to be shown in the

books of the firm

(ii) Rohit is to contribute Rs 60,000 as his share of Capital as well as his
share of Goodwill in cash

(i) Creditors are unrecorded to the extent of Rs 5,000

(iv) Land and Building be valued at Rs 1,60,000

(v) The value of Stock be depreciated by 10%

(vi) That the Capitals of the old partners be adjusted on the basis of Rohit’s
capital, the excess or deficiency be met by cash

Prepare Revaluation A/c, Partners’ Capital A/cs and the Balance Sheet of the
firm after Rohit’s admission.

3270/ ESS/412A
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OR

Divya, Jyoti and Astha are partners in a firm sharing profits and losses in the
ratio of 3 : 2 : 1. Their Balance Sheet as on 31st March, 2009 was as follows :

Balance Sheet of Divya, Jyoti and Astha

as on 31st March, 2009

Liabilities Amount Assets Amount
Rs Rs

Creditors 11,000 | Freehold Premises 80,000

General Reserve 6,000 | Machinery 30,000

Capitals : Stock 10,000
Divya 60,000 | Debtors 16,000

Jyoti 40,000 | Less : Provision for

Astha 20,000 Doubtful Debts 1,600 14,400

Cash at Bank 2,600

1,37,000 1,37,000

Jyoti retires from the business and the following terms are agreed upon :

(i) That the Goodwill of the firm be valued at Rs 30,000 and retiring partner’s

share be adjusted into the accounts of the remaining partners

(i) That Machinery be reduced to Rs 24,000

(i) That Stock be appreciated by 20%

(iv) That the Provisions for Doubtful Debts be decreased by Rs 1,000

(v) The Capital of the new firm be fixed at Rs 1,20,000. Surplus/deficit, if any,
be adjusted through cash.

Prepare Revaluation A/c, Capital A/cs and the Balance Sheet of Divya and
Astha after retirement of Jyoti.

3270/ ESS/412A
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Afed 3 AYY Th ®H H H3EN & 3T ATH-8MH 1 IWsH 3 : 2 o Igdd H i 2
31 femrr, 2009 =t 3w fEufd-foawr 30 vor

sififa SR s 1 -

31 fagrr, 2009 &
%o %o

ISt @ I g wed 60,000
T 1,20,000 | qfy v WA 1,40,000

3Ty 80,000 | e 12,000
M G 30,000 | &7 : TrEe™ 1,000 11,000
TER 30,000 | %i® 30,000
R ETS) 19,000
2,60,000 2,60,000

et fafr =01 3 Afed =it e & L s % forg fot ot s 39 3 for wewd @ g

(i) H hH BATG B GoATRA 50,000 Fo fRAT SIERT G W BH ol <@l JEaRl H @l
fa@mn smm

(i) Ufea s f&eq i Osft dom =fa % 60,000 Fo The €4 H I

(i) 5,000 %o % TR HAfeAfad &

(iv) W TF W& & qodwA 1,60,000 Fo foram SR

(v) Th % A H 10% I FHH H ST

(i) GO FTEERT Al ISt 1 Afed A UGSt R SMER W gurEieH fRm Seem dsft %
rferes 3tora A B R IHA gfd e e g Bnft

Tfed o T o IYETq GTHCATRA @Tal, |IEiERi o Yt @d qe fedrfd - foewo smmu |
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YT

foea, sifq 3R aTeen U wH § WERR ¢ 3R ov-giH # fawsE 3:2: 1 % Agua H
Fd 21 31 A, 2009 ot 31 ferfa-foawor 59 yem o -

fa=ar, soifa 3k 37/ 7 fesifa-fareror

31 47, 2009 Ht
%o %o

SEEL 11,000 |9zl gk 9fEr 80,000
T G 6,000 | 9ef=dt 30,000
ECilE w5 10,000

ez 60,000 | eer 16,000

snfa 40,000 | =7 : |ferer ot &

ATEAT 20,000 ISR IEDIC] 1,600 14,400
5% T Ths 2,600
1,37,000 1,37,000

SIfd e | Qe Bidl 8 3R e i W weAfd gid 2
(i) HH ol ST F oAt 30,000 Fo BN TR WATHIT TG o W ol WY AHER

Wil ® gEEtSd fem s
(i) T % Hed § 24,000 %o i HHT i SmAf

(iii)
()

ek o qod H 20% i Fhg hl St
iy /O & e H 1,000 %o hi HHY i STt

(v) & ®H F IS 1,20,000 %o Brft| St Wral § ARk A1 FH RIE 2, AT ST FHEISH

Tehe o HIL9H ¥ &

AT @Tdl, St @Td T S o SaETHE g o ved feea SR et fedfa-faamm

ERIE

3270/ ESS/412A
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SECTION-B
Qus-d

OPTION-I
IECTR

( Analysis of Financial Statements )

( o foramort <1 farverson )

23. Why are trade unions interested in the analysis of Financial Statements?

foreftar feramot o forgeroor § sfieh @& 1 &= ofd §°

24. Explain the significance of Current Ratio.

9] ITIUTA o Hew I THEATE |

25. What is meant by ‘Time Series Analysis™?

T e faveer | Fn i 27

26. Fixed Assets were Rs 5,00,000
Current Assets were Rs 6,00,000
Current Liabilties were Rs 1,00,000
Net Profit after Interest but before tax was Rs 1,00,000
10% Loan Rs 1,00,000
Tax paid—Rs 40,000
Calculate Return on Investment.

TRt grafEi—5,00,000 %o

=] FFIfR—T—6,00,000 %o

9T} FIam—1,00,000 %o

L d olfoh TS o 9T I I d¥—1,00,000 %o
10% #9—1,00,000 %o

X H PTAH—40,000 Fo

fafrsm w g h o fifso)

3270/ ESS/412A 16



27. On 31st March, 2009, Dipesh & Co. indicated a profit of Rs 2,25,000 after
considering the following :

Depreciation on Vehicle—Rs 12,000
Loss on Sale of Furniture—Rs 6,000
Amortization of Goodwill—Rs 15,000
Gain on Sale of Machinery—Rs 20,000

The Current Assets and Current Liabilities in the beginning and at the end of
the year are :

1.4.2008 31.3.2009
Rs Rs
Accounts Receivable 25,000 45,000
Stock in Hand 75,000 39,000
Cash in Hand 18,000 50,000
Accounts Payable 10,000 22,000
Expenses Payable 10,000 6,000
Bank Overdraft 50,000 35,000
Ascertain the net cash (cash flow) from Operating Activities. 6

1 1 eIW § T % ugETd, U U0 o T 31 W, 2009 @ 2,25,000 Fo T :
e W ATEIN—12,000 Fo
Hfter i okl W BTH—6,000 %o
AT A1 IREne—15,000 %o
At 1 forsht | @9—20,000 %o

Tu o TFT R Y % 3Fd § =Te] GrafEl U9 9] ST 39 TR §

1.4.2008 31.3.2009
%o %o
G I 25,000 45,000
TEALS Tlh 75,000 39,000
TEEY Uhe 18,000 50,000
T 3 10,000 22,000
= 10,000 6,000
S Aty 50,000 35,000

aftTer franett @ 358 U (Uehe JaTE) STd hifs |

3270/ ESS/412A 17 IPTO



OPTION-II
IEET M|

( Elementary Cost Accounting )
( IRfrires EmTa ST )

23. Differntiate between Financial Accounting and Cost Accounting on the basis
of ‘objective’.

‘Ie¥ % IR W o1 SRR 3R AN oRaeRA § 3R SaTsy|

24. State any two objectives of Cost Accounting.

AT oiEie o fohel a1 Seval 1 3g@ i

25. The following information was received from Sagar Industries in respect of
Material No. ST 59 :

Normal consumption—100 units per week
Maximum consumption—400 units per week
Minimum consumption—50 units per week
Reorder period—5 to 6 weeks

Reorder quantity—500 units
Calculate Reorder Level.
A §&AT ST 59 % TF-d H IR $e&e ¥ HH g=-1 I 28 ¢
AT I9T—100 IHEAT gl TuTe
rferepan IUHIT—400 Fehreat Tfd THTE
FAAH ITIT—50 ISl Jid HTE
TF: IS 3AI—5 ¥ 6 THTE
T QY AH—500 IHhTeAT

I TR T HT AT HIT |

3270/ ESS/412A 18



26. Arjun, a machine manufacturer, purchases 8100 units of a certain component
for his annual usage. The order placing cost is Rs 500 and cost of carrying one
unit for a year is Rs 10.

Calculate Economic Order Quantity.

e fafmiar st o7 arftes 3w & fou fFfesa st 6 8100 Tl 1 % el 2|
e 24 S AN 500 Fo 2 qT a9 % oI Uk goRts & W it A 10 Fo R

Tyt st 9En Kt ToET Aifs)

27. Calculate factory cost’ from the following particulars :

Materials consumed

Productive wages

Direct expenses

Consumable stores

Oil, grease/Lubricating

Salary of a Factory Manager
Unproductive wages

Factory rent

Repair and depreciation on machine

= e 9 ‘s ara’ i o i

3270/ ESS/412A

IR T TS AT
IcqTEshdl HSIgll

T I
99 LR

a1, T/ sltehter

HREMT T4k ol dad

ITIcITEh ATl

HREH 1 TR

T3 sl T Td TR W AaE

* ok

10

Rs
30,000
10,000

3,000
1,000

400
3,000
1,000
1,000

300

30,000
10,000
3,000
1,000
400
3,000
1,000
1,000
300

10V—1300%x3



